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Instruction : First 15 minutes are allotted

for the candidates to read the

question paper.
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Note: i) All questions are compulsory.

Marks allotted to each question
are given in the margin. '

iij) - In numerical questions, give all
the steps of calculation.

iii) Give relevant answers to the

questions.

iv) Give  chemical equations

wherever necessary.
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1. Four alternatives are given in each part

of . this question. - Select the  correct

alternative and write it in your answer-

bookf

i

b)

A metal ilon M 2t after loss of two

electrons in a reaction will have an

oxidation number equal to

1) .zero
ii)r + 3
i) #1°
v) + 4. " | e R

The valency of Cr in [Cr(H,0),CL,]"

IO 18

i
i) 1

iii) 6

S % 1
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c)

6

The ores that are concentrated by

froth flotation method are

1)  Carbonates

ii) Sulphides

111) Oxides

~iv) Phosphates. 1

d)

- The strong electronegative halogen

1S
3B
i) CL,
111) Br,
N, | _ 1

748539

Substances  which  give  good

conducting solution are called
1) Weak electrolyte

11) Strong electrolyte

111) Non-electrolyte

1v) Catalyst. 1
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Frfafaa Qe & g e
| O ¢ (ethylene diamine)

cobalt (III) nitrate

11) Dichlorotetra aqua chromium

(I1l) nitrate, =~ _ 1

Why do He and Ne not form

compound with fluorine ? I

Write names and formulae of two

oxide ores of iron. 1
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c) Explain negative catalysis by givihg
an example. 1

d) Write the formulae of the following
compounds :
o R by (ethylene diamine)

cobalt (III) nitrate

ii) Dichlorotetra aqua chromium

(III) nitrate. _ 1

3. %) SUUET FME ? TN H T WL H

1
g) S AT
Br2+OH‘=Br‘+Br05+H20
g SR Reh mmaﬁm.; 1
M g et % fe ol @ s
hifeT
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i) gEkE @Il 1
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What is reduction ? Explain with an

example. il its
Write down the oxidising and
reducing agents in the ionic reaction '
Br, + OH™ = Br~ + BrO; + H,0. 1
Explain the following properties of
d;bldck elements :

1) Electronic conﬁguration

11) Magnetic properties. SO
Explain the process of smelting by

giving an example. | e

ii) RIHRING A
i) STUTRFRING 3T

iv) URGRGHING 37T | _ 2
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4. a) Wrife down structural formulae of
I the folloufing ~oxyacids of
Phosphorus : '

i) Hypophosphoric acid

11) Phosphdric acid

111) Orthophosphoric acid

1v) Pyrophosphoric acid. 2

. 748539
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Write short notes on the following :
1) Tyndall effect
ii) Electrochemical series. YR

Prove that in a first order reaction
the time taken for the completion of
half the reaction is independent of

the initial concentration. 2

Discuss structural isomerism in
complex compounds with relevant

cxaniples. . o 2

5. %) USG9 9 HY R GHES £ 2 I
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Zn +HNO, — Zn(NO,), + NO, + H,O

‘M) A @@ W HCL, NaCl U
CH,COONa & HAQed  lefehed

YT 380-5, 109-8 Td 785 IHE ¥l

i) Zn2t wEOT WhT R ¥ wate
Cu2* @& &gl Alet | FJ 2 S
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S. ' a) What .do ygu- understand by '
emulsion ? Explain its application in '
duilylifec. S 58

- B ‘Balance the following reaction : '

Zn + HNO, — Zn(NO,), + NO, + H,0

c) The equivalent conductances at
infinite dilution of HCI, NaCli and
CHSCOONa are 380-5, 109-8 aind
78-5 units respectively. Calculate

equivalent conductance at infinite

dilution of acetic acid. 2
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' al Whét 1s 'lanthanide
I contraction' ? Explain its
reason by giving éxample. '
ii) Zn?* salts are white while
Cu?* salts are blue. Why ?
g ol o
6. M Ffe F Al F A i w1 o
I hITC | oI hife bt Teh STfishar o
% et S REE T # 100 e
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6. Derive the expression for - velocity
constant for the. first order reaction.

A substance becomes half of its initial
quantity in 100 minutes in a first order
reaction. In what time will it become one
fourth of its initial amount ? O

OR

Write down the difference in molecularity

and order of reaction. What is meant by
~energy of activation ? Explain the

Arrhenius equation. 3
7. T s SRR wR F e
F1 Frad U i T Hm{%ﬁ NEIRIRED
wﬁwm%f@méﬁl‘%?%%ﬁuwmquﬁ

<l AR FHIHT o ferfiaa ; 3
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7- Describe_ with idiagram the 'laboratory
method for the preparation of chlorine or
phosphine and also give relevant
chemical equations. Also write the

chemiCal equations of 1its any two

chemical properties. | '3
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